ﬁ ﬁ @ o ﬁ nam phan sd, thir tu cac phép toan co ddu ngodc

Tén: Ngay thang: Piém:
G+ 3P 450G -CP)- G+ 3+ 4G GP-
(G +3)% 3+ G+ 5P - G+ *5-(+a) -
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nam phan s0, thr tu cac phép toan c6 dau ngodc

Tén:

2 1, B
Gt 3P+ 3G- N = o

(4+1)2+1+1+42_8_66_:34_1_6_
5 2 2 25 25

1, 1. 1.3 1, 35 3
((5) +'§) 5'%(5 + 5) 4

1.1, 11 1
(§+Z) E(_ _) (720)

Ngay thang: Diém:

32, 277 _ | 71
ZHIY+ (= = — =1-—
G*9 ( 3 )) 200 200

L 1, 11
Gt P2 (G-

2729
18000

3 1, 13 177 17
Z4(Z (2 4+ 2 ___:4__
GFE) 5 TGH ) 0

[PEICNUE ) B IR
(8+(Z)) 3 (2+2) (144)
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